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Evaluate [[ A 7ids. where 4 = (x+3?)i—2xj+2yzF and S is the surface of the plane
2x +y + 2z = 6 in the first octant. Ans. 81

Evaluate I_[S A fids. where 4 = zi + 1 —3y2zF and S is the surface of the cylinder x> + 3* = 16
included in the first octant between z =0 and z = 5. Ans. 90
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Evaluate ”5]??? dS. where, F =18z7 —12j +3yk and S is the surface of the plane 2x + 3y + 6z =12
in the first octant. Ans. 24
Evaluate lf S?ﬁ ds. where, F = 2_\:\':" —y:j‘ + x2k over the surface S of the cube bounded by the
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coordinate planes and planes x = a. y=a and z = a. Ans. —,,04
If F=2yi- 3j+x2k and S is the surface of the parabolic cylinder * = 8x in the first octant bounded
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